
 

 
Simon has a spinner which has three colours and a 
6-sided dice. He spins the spinner and rolls the 
dice. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1. The spinner lands on a colour and the dice 
rolls onto a number.  
Can you find all 18 possible combinations? 
Record them in an organised way.  

 
Simon has a spinner which has three colours, a 6-
sided dice and a penny which has a head and tails 
side. He spins the spinner, rolls the dice and 
throws the penny. 
 
 
 
 
 
 
 
 
 
 
 
 
 

1. The spinner lands on a colour, the dice rolls 
onto a number and the coin lands on heads 
of tails. 
Can you find all possible combinations? 
Record them in a systematic way. 

 

Simon has a spinner which has four colours, a 6-
sided dice and a penny which has a head and tails 
side. He spins the spinner, rolls the dice and 
throws the penny. 
 
 
 
 
 
 
 
 
 
 
 
 
 

1. The spinner lands on a colour, the dice rolls 
onto a number and the coin lands on heads 
of tails. 
Can you find all possible combinations? 
Record them in a systematic way. 

 


